Run table

April TB

> Parameters: 1750 V, 1 mv/fC, 100 ns slope, 25 ns peaking time
» Threshold: 209.63 mV (213 DAC counts)

VMM run APV run 481 scintillator counts  Number of spills Comment
0814 407 3.0-10° 4
0826 418 5.5-10° 111
0818 411 8-10* — 1.4-10° 1921
July TB
> Parameters: 1750 V, 1 mv/fC, 100 ns slope, 25 ns peaking time
» Threshold: 193.86 mV (190 DAC counts)
VMM run APV run 481 scintillator counts Number of spills Comment
0087 43 25.10° 5
0093 49  2.4-10° 110
0103 59 1.4-10% 1675

Main files marked with red
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Merging statistics
April TB

Spil processed w/o pulser w/ tracks Mapped (all) Nw/track / Nwo/pulser’ % N\ apped / Nw/track N after fitting (good?)
o 4619 3631 600 200 16.52 33.33
3 5973 3665 631 188 17.22 29.79
92 5743 3437 632 191 18.39 30.22
Mean 5242.04 3584.97 616.32 163.94 17.19 26.63
July TB
Spil processed w/o pulser w/ tracks Mapped (all) Nw/m_“:k / Nwo/pu|ser' % NMapped / Nw/"ack N after fitting (good?)
o] 6636 4321 502 137 11.62 27.29
3 6754 4444 508 93 11.43 18.31
92 6254 4546 509 199 11.20 39.10
Mean 6359.70 4413.82 510.03 137.03 11.56 26.89

July TB, fakes (VMM shifted to ~5.25ms from optimal position)

Spi processed w/o pulser w/ tracks Mapped (all) Nw/traek / Nwo/pu|ser' % NMapped / Nw/track

o 6636 4321 502 17 11.62 3.39

3 6754 4444 508 26 11.43 5.12

92 6254 4546 509 14 11.20 2.75

Mean 6445.90 4402.52 508.78 19.51 11.56 3.84
Summary

Merged events are not fakes, merging efficiency is comparable with April TB



Pulser generators

Pulser generators during TB

» April TB: 2-channel generator
» July TB: 1-channel generator + scaler

From test checks:

» APV pulser comes in parallel with
about 200'th VMM pulser.
That means, scaler is working

£

pulses10msIn50usPulses

10

Entries 17892

g Mean 2006
r Std Dev 5.734
10°%
10
r |
10" ‘
10°%E l
:HM’HH\\JH\ HHHHMH\ I
0 50 200 250 300 350 400 450 500
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Pulser selection and definition

Pulser selection

April TB: July TB:

P> pdo = 948 or pdo = 965 > pdo = 1012

» vmm channel: 63 » vmm channel: 1
Common

» Difference to previous pulser: 2000 - k + 1
» Maximum: 90 pulsers

» Merging window: 700us
Definition

» "Inside" pulsers - pulser group with "good" pulsers before and after

» "Outside" pulsers - pulser group with no "good" pulser after

4/as



hPulsersMissed

Missed pulses comparison

—— SPRING (0826)
—— SUMMER (0093)
——— CLEAN (0000)

w0

VMM channels used for the summer, spring 1°"é
and dry run 0 ’

> SPRING - channel 63 e T o g

> SUMMER - channel 1 wE | *HT‘* i ‘ *HW o fHﬁ f

> CLEAN — channel 60 1 L 20 ‘t‘d B ‘L‘o‘ = ‘i‘o‘ 1 5o ‘jo‘ BT

hPulsersMissed

Number of missed pulses in clear run: o — RGO

» 10 ms pulser: 0.1% missing . - —— CLEAN (0000)

» 50 us pulser:

P 23% - more tthan 1 pulse 10°
» 6.5% - more than 2 pulses

,_.
3

,_.
S

107

10°

10 ¥ 5/45



July TB: Missed pulsers

N missed pulsers from BCID difference

hPulsersMissed

10°

10

10°

107

1

o

N

Enres  4.2350230+07

Mean 05202

sidDev 03975

o

Summary

> Spill 0: Event 620015: 807 "bad" pulsers before.

nPeriodsAdd calculated as 1

PP PO O IO B ﬂm‘\ﬂﬂ .
10 20 30 40 50 60 70 80

9
N

N "bad" pulsers found since previous good

N "bad" pulsers before good

hNBadPulsersBetween

Enries 4235023007

Mean 05013

SidDev 09863

‘\I‘|HIM\1LIMIJVII PRI P B |

I - .
200 400 600 800 1000 1200 1400

BCID difference to previous good is 2000,

» Two possibility: many noise events or possible source of merging problems
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Problematic spills
July TB, spill 2

Spi processed w/o pulser w/ tracks Mapped (all) Nw/"ack / Nwo/pu|ser' % NMapped / Nw/track N after fitting (good?)
2 6356 4044 450 17 11.13 3.78

Event 1900789: 795 "bad" pulsers before. BCID difference to previous good is 2000, nPeriodsAdd calculated as 1
Event 1946751: 561 "bad" pulsers before. BCID difference to previous good is 1233, nPeriodsAdd calculated as 17
Event 1995503: 88 "bad" pulsers before. BCID difference to previous good is 1999, nPeriodsAdd calculated as 1

Problems with pulser calculation started from the beginning of run

July TB, spill 40

Spi processed w/o pulser w/ tracks Mapped (all) Ny /track 7 Nuvo/pulser’ 3 N\tapped / Ny, /track N after fitting (good?)
a1 6777 4450 531 201 11.03 37.85 140

Event 30954169: 808 "bad" pulsers before. BCID difference to previous good is 1999, nPeriodsAdd calculated as 1

But that on 4th second only. Problem is: VMM pulser shifted ~ 1.6ms by DAC time

April TB, spill 91

Spi processed w/o pulser w/ tracks Mapped (all) Nw/track / Nwo/pulser' % NMapped / Nw/track N after fitting (good?)
91 4611 3624 602 39 16.61 6.48

Problem source is still unknown
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July TB: Single "bad" pulses

Distance to previous/next "good"
pulser for single "bad" pulsers:

» The noise pulsers should be at line
X + Y = 2000, but there are no such
hits.

» Pulsers are around lines
X + Y = 4000/6000/8000.
That means that are a mistimed signals
(with 0-2 pulser missed)

Dgep (NEX)

“bad" pulser BCID difference to "good" pulsers before and atter if only one bad pulser in a raw

4000

3500

3000

2500

2000

1500

1000

500

' Entries
Mean x
Meany

Std Dev x 233.9
Std Devy 341.7

821
1912
2124

T,
[N RS NN NN S WS W S|

(@]
O

500 1000 1500 2000 2500 3000 3500 4000
Dgepp (prev)

50

0
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July TB: Inside "bad" pulses

Inside pulsers, BCID difference in
group
Clearly seen events with 0-6 missed pulses.

What are events with difference 0 (shown in
bin 4096)

“good

hBadPu

53975
2067
364.4

é Entries
£ Mean
r Std Dev
lO";
10°
102§
105*
1= ‘
T N 1| AN
0 500 1000 1500 2000 2500 3000 3500 4000

Dgepp (prev)
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July TB: Inside "bad" pulses

BCID difference between first “inside” "bad" pulser and "good" pulser before if distance to next s pulser-ike:

Entries 134
Distance to previous "good" pulser - Mean 2159
from first "bad" pulser in a group StdDev 5916

» < 2 bad pulsers 10

» Distance to next "bad" pulser:
2000- k+1

Observations

» There is a event with BCID difference
1998 L
» Distance between start values: 2016
(214 pulses), 2032 (171 pulses), etc.

» But there are no such events around
4000

10

0 500 1000 1500 2000 2500 3000 3500 4000
Dgepp (prev)
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July TB: Inside "bad" pulses

BCID difference between first “inside” "bad" pulser and "good" pulser before if distance to next s pulser-ike:

Left column Entries 134
. . L Mean 2108
Distance to previous "good" pulser StdDev 1056
from first "bad" pulser in a group
» < 2 bad pulsers 10:7
» Distance to next "bad" pulser: r
2000-k+1 L
Observations L
> There is a event with BCID difference
1998 |
> Distance between start values: 2016
(214 pulses), 2032 (171 pulses), etc. 11—
> But there are no such events around r
4000 H ‘ ‘

1800 1900 2000 2100 2200 2300 2400
Dgepp (prev)
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July TB: Outside "bad" pulses

Problem: there is no "outside" pulsers.
Why that can be:
> First pulser is not proportional to 2000 BCIDs, and the last one
shifts the same value below.
> First pulser is not proportional to 2000 BCIDs, the all other pulsers
are 2000, and we are waiting for BCID difference to last good is
becomes ~2000.
> First pulser is proportional to 2000 BCIDs, but many pulsers missed,

the all other pulsers are 2000, and we are waiting for BCID
difference to last good is becomes ~2000.

How to check . /
B . prev ,first next,last
Plot picture with Apop™ and Agey™ .

. . . . first t,last
> First option should give diagonal line AZZA"" + AL = 2000

» Second and third option — horizontal line AgegtD’aSt = 2000.

» How to split that options?

10

10°

102

-

BCID differer

Jetueen "bad" pulsers (‘bad" pulser outside - wio good after)

hBadPulsersOutsideBcidDiff
Entries 0
Mean 0
Std Dev 0

0

500 1000 1500 2000 2500 3000 3500 4000
Bgcpp (Prev)
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July TB: behaviour of "bad" pulser group as a whole

BCID difference between first "inside” *bad" and last "good" vs last "bad" and first "good"

. prev first next,last % 4000F Entries 134
Plot with ABCID and ABC/D E F Meanx 2161
% C Meany 2095
i i i @ 3500~ P
> horizontal line exists = F StdDevx 5911
. . o |-
> no diagonal line 3 r StdDevy 414.3
< 3000~ 0
Two option remains: 25000 .
> First pulser is proportional to 2000 F
BCIDs 2000 prmtsn e
» First pulser is not proportional to 2000 r 6
BCIDs 1500:*
All other pulsers are 2000 =+ 1, and we are F 4
e . . 1000—
waiting for BCID difference to last good is r
becomes ~2000. F 2
Since not all events are exactly 2000, we will 500:
find good event eventually r | | | | | | | |
L1l L1 - L1l L1 - L1 L1
O0 500 1000 1500 2000 2500 3000 3500 4000

Dgep (prev, first)
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Pulser summary

Summary

| 2

vVvyVvYyVvVvVVvyVvyy

Pulser efficiency not 100%

During July TB, it seems, scaler worked. slide

A lot of pulsers can be missed during single spill slide

But there is no bad pulsers in ~ 15 seconds after sthe spill slide
Sometimes generator sends pulser signals at a wrong time slide

But signals inside group of bad pulsers are usially in ~ 2000 BCID slide
But first pulsers in a group of "bad" distributed strangely slide

"Bad" spill group growing untill BCID difference to the next becomes 2000-like.

slide
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Analysing

RT-plot for April TB, with double-counting RT-plot for July TB, with double-counting

hL1Straw27DT
hL1Straw27DT 100 [ hL1Straw27DT |
hL1Straw27DT 2 ok _ - = Entries 144060
2 Entries 127169 £ g0l . T . |Meanx 1738
3 - . 7 -|Meanx 1662 E - 7 _{Meany -67.61
f - Meany -22.55 60 - Std Devx 16.96
60! - I Std Dev x 37.82 StdDevy 17.17

- S "_ 7 -|stdDevy 14.96

240 260
MM strip

00k Lo L]
60

L1 L |
80 100 120 140 160 180 200 220 240 260
MM strip

(the same code, that means wrong straw number)
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Analysing

RT-plot for July TB, with double-counting

hL1Straw27DT

dT, ns

80,
60,

140 160 180 200 220

Summary

» This happens on each layer
» We will check what happening.

hL1Straw27DT
Entries 144060
Meanx 1736
Meany -67.61

— T|StdDevx 1696

Std Devy 17.17

240 260
MM strip

RT-plot for July TB, after calculation

cluster center

dT, ns

o

-100]

-120

-140]

hL1Straw27DT_Clust

hL1Straw27DT_Clust
r - : Entries 9207
r . Mean x 164.4
L Meany  -685
- Std Devx 3.843
C StdDevy 1564
E 40
- 30
C 20
L - 10
Eo b b b Lo Lo 1y o
120 140 160 180 200 220
MM strip
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Control plots

Estimated time difference distribution DAC time difference for merged hits

deltaT hDACTimeDiff hDACTimeDiff

htemp Entiies 14708

E Entries 14708 200~ Mean 453

- Mean 30.38 C StdDev  75.28
3500 E StdDev 1435 180
3000~ 160?
F 1401~
25001~ r
r 120~
2000~ 1000
1500 80
r 60
1000F~ r
[ 401~
5001 C
F 20

L 1 I et | O st ani sl uk R I
Qoo a0 200 o 200 400 600 0 100 200 300 400 500 600
deltaT A DAC time, ps
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Control plots

Dependency of Estimated time difference
of time since start for merged hits

hTimeDiffPerTime
1000

hTimeDiffPerTime

AT, ps

800

Entries 14708
Meanx  2.196
Meany 30.38
Std Devx 1.329
StdDevy 1583

P T T T I T I IR I
1000505115 2 25 3 35 4 45 5

APV time - from trigger time

time, s

Dependency of DAC time difference of
time since start for merged hits

A DAC time, ps

hDACTimeDiffPerTime

3000 HOACTImeDIPerTime
- Entries 14708
[ —=—= 1= = = == _=jMeanx 208
| - Meany 380.4
2000? - - StdDevx 1319
. - _ _ _: _ |StdDevy 4274
20
15
10
L 5

—a000bee Do T b b S b b o
30000 05 1 15 2 25 3 35 4 45 5 0

time, s
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Control plots

Number of merged events per time

400

350

300

250

200

15

o

101

o

5

o

hnMerged

hnMerged

Entries 14708
Mean 2176
Std Dev 131

=)

05 1 15 2 25 3 35 4 45 5
time, s
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Control plots

IMPORTANT: APV plots rechecked 2022-12-20. Problem was with plot names only (10 and 11 was switched)

PDO distribution of mapped hits in VMM PDO distribution of mapped hits in APV,
DR layer0
mappedHitsPdo mappedHitsPdo_apv_I0
_ mappedHitsPdo mappecHitsPdo_apy_10
1600 v 50 6001 v 2258
: Std Dev 49.82 r Std Dev 266.7
1400 r
F 500
12001 L
[ 400[
10001 r
8001 3001
600 r
F 200
400~ L
r 100F
200 1
G:uu\u o L b b b G:“““‘ m L I " I L i
0 100 200 300 200 500 600 700 800 900 0 200 400 600 800 1000 1200 1400 1600 1800 2000
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Control plots

IMPORTANT: APV plots rechecked 2022-12-20. Problem was with plot names only (10 and 11 was switched)

PDO distribution of mapped hits in APV, PDO distribution of mapped hits in APV,
layerl layer2
mappedHitsPdo_apv_I1 mappedHitsPdo_apv_[2
F Erery F
QOOi Mean 6393 700~ Mean 636.7
E StdDev 6642 C StdDev 6566
800F 600
700; E
C 500
600;
5007 400

300
200

100

‘
ol Ly, | N, N AT s ot st usses TR,
0200 400 600 800 1000 1200 1400 1600 1800 2000 0 200 400 600 800 1000 1200 1400 1600 1800 2000
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Control plots

Dependency between DAC and estimated
time difference

hTimeDiff2D

» 600 hTimeDiff2D

=1 Entries. 14708

o Meanx 3536
<O( Meany 451.6 o

: 500 Std Devx 125.2

a StdDevy 75.89
: 0.0

400

300~ 0.0
200~ 0.0
100 0.0

e e bbb e L o

800 =100 0 100 200 300 400 500 600

AT (estimated), us
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APV fired

Description:

For each strip set all strips in the same layer fired in the same event

neighbour

apvFired_lO

N)
N
o

N
N
o

200

160

140

EANTTS

16(

14(

12(

10¢

neighbour

apvFired_lO

strip
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APV fired

Comment

"strange" strip names (123, 149/150, 213/214, 360 is the important pins on connector)
Vitalii said, it looks like x-talks in connector.

But... what is 1387 Other strips?

Need to add that strips to the connector picture
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APV fired

Description:
For each strip set all strips in the same layer fired in the same event

I

apvFired_I1 apvFired_|2

neighbour
neighbour
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PDO for MM Layer 0
Hits for tracks selected in range [161-198]

For all hits in all events

hitsPdo_apv_2D_I0

2000

1800

1600

1400

1200

1000

hitsPdo_apv_2D_l0

Entries 1749607
Mean x 164.2
Meany 175.7 L
StdDevx 1618
StdDevy 2738

20(

For all hits in events with pseudotracks

2000

hitsPdoTrackEvents_apv_2D_|0

1800

1600

1400

1200

1000

e

Entries 262263

Meanx  167.3

Meany 2473 )

StdDevx 1869

StdDevy 3603
25(
20(
15(C
10¢
50
0
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PDO for MM Layer 1
Hits for tracks selected in range [161-198]

Question to Vitalii: Can be X-talks in connector an explanation?

For all hits in all events For all hits in events with pseudotracks

hitsPdo_apv_2D_[1 hitsPdoTrackEvents_apv_2D 1

Entries 1717303 | 4(
Mean x

Eniies 899470
Mean x 184
Mean y
Mean y
Std Dev x

Std Devy

160 180 200
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PDO for MM Layer 2
Hits for tracks selected in range [161-198]

Question to Vitalii: Can be X-talks in connector an explanation?

For all hits in all events For all hits in events with pseudotracks

hitsPdo_apv_2D_|2 hitsPdoTrackEvents_apv_2D_[2

Entries 867531
| Meanx 1805
B Meany 5753
Std Devx 21.95
StdDevy 633.3

Entries 1698204

Meanx 1814
Meany 568.9
StdDevx 3228
StdDevy 6271
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TODO

Next steps:
> Proper cluster construction (the same in Tiger was used)
> Add check dependence between first "bad" pulser (in a group with dt=2000) difference to previous with

time DAC difference
»> Check N hits (vmm) per event, should be mostly 2. Events with >=2 - X-talks in straw, 1 - inefficiency
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First bad pulsers in group: time and BCID difference to last good
First bad pulsers in group: time and BCID difference to

last good
3 40005 5
2 r
. ~ L= Entries 134 4.5
Observation g F—— Meanx 4097
» Seems, bcid difference not straightly < F = - Z{Za;y 321;; 4
connected to time difference. 3000~ o D:x o1t 35
» So, some time shift, after that time r —
diff pulser started to work starting 2500; — 3
from that bad pulse (e —
2000F=——= == — 2.5

> Need better statistics? (Maybe select

all as 20007) 2
) 1500F—
» If there are 16 BCID a something F 15
hardware-related? 10000 — '
F— 1
500 05
G:\ = ‘ I - ‘ N - ‘ L1 11 ‘ L1l ‘ I - O
0 50 100 150 200 250 300

ATppcr HS 31/45



Comparison with April TB — PDO, Layer 1

April TB July TB

hitsPdo_apv_2D_I1 hitsPdo_apv_2D_I1

Entries 1717303 | 4(
Mean x

Mean y

Std Dev x

B std Devy
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Comparison with April TB — apvFired, Layer 1

April TB July TB

apvFired_I1 apvFired_I1

neighbour
neighbour

N
[N}
o

200

180

160

140

strip
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Comparison with April TB — PDO, Layer 1

April TB

hitsPdo_apv_I1

18000

16000

14000

12000

10000

8000

6000

4000

2000

T

o

. n
200 400 600 800 1000 1200 1400 1600 1800 2000

July TB

hitsPdo_apv_I1
hitsPdo_apv_I1
C Entries 1717303
7000: Mean 553.6
[ StdDev  627.2
60001+
5000
4000(f
3000f
2000}
1000+
o b b B PR T T T L
0 200 400 600 800 1000 1200 1400 1600 1800 2000
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Comparison with April TB — PDO for tracks-only hits, Layer 1

April TB July TB
hitsPdoTrackEvents_apv_I1 hitsPdoTrackEvents_apv_I1
N L Entries 899470
6000 4500 Mean 567.5
[l L SdDev  636.4
r 4000
50007 r
f 3500
4000f} 3000
] 25007+
3000+ O
[ 2000/
2000f- 15001
f 1000+
1000f- H
f 500f-
G}M\m\mm”e‘ it Lo | P PR Y HP R o o s s R B
0 200 400 600 800 1000 1200 1400 1600 1800 2000 0 200 400 600 800 1000 1200 1400 1600 1800 2000
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What done

— .
1. Created clusters (the same way as for Tiger): > Mean value strip = S~ charge 2_ strip - charge

» Distance between clusters < 5 strips 1 ; —)
P Center estimated by strips weighted with pdo > Std.Dev: o = \/Nhits > (St”P - Str’P)
» Center estimation uncertainty the same way as .
| 2 .
for Tigers (TODO add formula): Weighted Std.Dev:
1 . —\2
2. Analysed ow = \/W > ((Stl’lp - stnp) . charge2>
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Clusters, layer 2

5000

Max charge, all clusters Claster charge sum, all clusters
sum of energy for layer 2, all clusters maximum energy for layer 2, all clusters
40000} 25000
35000(
20000~
30000f} r
25000 15000
20000 L
15000F" 10000
10000
F 5000

1000 2000 3000 4000 5000 6000 7000 8000 900010000 200 400 600 800 1000 1200 1400 1600 1800 2000

sum max

2
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Clusters, layer 2

Max charge, cluster with maximal charge per Claster charge sum, cluster with maximal
layer charge per layer

sum of energy for layer 2, cluster with maximum Eim maximum energy for layer 2, cluster with maximum E_

N 8000
7000 F
7000
60001 r
6000—
50001 F
5000~
4000[F F
4000
3000 F
3000
20007 2000
10001~ 1000
N T T P T P ot T e NS DR,
0 1000 2000 3000 4000 5000 6000 7000 8000 900010000 D 200 400 600 800 1000 1200 1400 1600 1800 2000

sum max

Observation
clusters constructed from X-talk-like hits removed! 38/45



Clusters, layer 2

Max charge, cluster with maximal charge per Claster charge sum, cluster with maximal
layer, merged events charge per layer, merged events
sum of energy for layer 2, cluster with maximum E___ merged events only maximum energy for layer 2, cluster with maximum E,,, . merged events only
L 1600
500? L
3 14001
400~ 1200~
L 1000
300? L
F 800
200/ 600
r 400
100 r
r 200
P Y IR PR TR RN PR ATY FRUTY SNNARTRN PO o bl il ML L
0 1000 2000 3000 4000 5000 6000 7000 8000 900010000 0 200 400 600 800 1000 1200 1400 1600 1800 2000

Observation
clusters constructed from X-talk-like hits removed! 30/45



Merged data RT-curve

Straw 27 vs layerl

hL1Straw27DT_Clust

o -10p —
o F TR
5 —20f - gty
F - - "
_305- - C
.

i

- | =
11955 160 165 170 175 180 185

hL1Straw27DT_Clust

Entries 10996
Meanx  175.2
Meany  -67.78
StdDevx 7.714
StdDevy 152

190 195 0
MM strip

Straw 27 vs layer2

hL2Straw27DT_Clust

hL2Straw27DT_Clust

o ~10p o= e e
5 —20f
-30

Meanx 1747

Entries 10996

Meany  -67.79
StdDevx  7.98
StdDevy 152

165 170 175 180 185

25

20

15

190 195 0
MM strip




Merged data RT-curve

Straw 28 vs layerl

hL1Straw28DT_Clust

dT, ns

hL1Straw28DT_Clust

Entries 14658
Meanx 1843

Meany 6391

StdDevx 7.659

_11965 170 175 180 185 190 195 200 205 0
MM strip

Straw 28 vs layer2

dT, ns

hL2Straw28DT_Clust

hL2Straw28DT_Clust

25

20

15

10

-10 - - =
- - = _ T = [Envies 14658
—
_ - - = o Meanx 1839
20 -‘__' - Meany  -63.93
—_— - — M stdpevx  7.901
30 _"';-._,—-_'.__'. = Sdbery 1464
- - 3
—40 o - -
-50 -_
-60
=70
-80 3
e -
-90 -- -
= e e w8 T
- - -
~100 = _T=_- -
- -="um
_11965 170 175 180 185 190 195 200 205 0

MM strip
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One Layer vs projected: straw 28

Straw 28 vs layer2

hL2Straw28DT_Clust

hL2Straw28DT_Clust

o -10 ol -

< - - = = _ T = [Enies 14658
= L] L] —

5 0 m == o Meanx  183.9

Meany — -63.93
Std Devx  7.901
StdDevy 14.64

_11965 170 175 180 185190 195 200 205 0
MM strip

Straw 28

vs projected position (2-points)

hProjecteddStraw28DT

dT, ns

S RLRNITRRNRRRN

T
o

PPl 0%

. = = o "[Enties 14658
Meanx 463
Meany  -63.95
StdDevx 179
StdDevy 1466
="

P B O -1 TR i T B
43 44 45 46 47 48 49 50
position, mm
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One Layer vs projected: straw 28

Straw 28 vs layer2

dT, ns

hL2Straw28DT_Clust

_10 hL2Straw28DT_Clust
- - = = _ T = [enries 14658
L ] = oMeanx  183.9
. == - =
20 -‘__F M = = veany  -sasal
— = — B stgpevx  7.901
30 —--a"-'_-—-h‘_- o StdDevy 14.64
- 3
-40 - -
-50 -_ 25
-60 20
=70
15
-80 g
- _ 10
-90 - -
e B e
- - - 5
~100 —_—_ T - -
- == m
_11?65 170 175 180 185 190 195 200 205 0

MM strip

Straw 28 vs projected position (3-points, vmm

hits used)
hProjectedStraw28DT
» —10 - - . o J=Enries 14658
: =m0 - - Mean x 46.33
5 20 m=m, " - = i:_ 2 " Meany -63.93
» StdDevx 1.973

FRE

LN RN AR

StdDevy 14.65

i T L1 Il TR N N P

position, mm

43/4s



TODO

Check what happens with double read-out layer
Check & Correct initial algnment
Check BCIDs for bad pulsers on larger statistics

Map & merge large statistics

P Check our standard run 103&59
> Split files by spills (on PNPI cluster?)
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Additional

number of hits in cluster for layer 1, all clusters
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